

County Distribution Detail Report through 08/02/2024

Aurora

Aurora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	1,174	2,209	23	3,406	\$4,257.50	\$93.05	\$4,164.45	0.70	\$2,915.12
							Entity Tota	al:	\$2,915.12
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,915.12
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.13	\$0.13	0.70	\$0.09
6/2024	1,235	11,593	1,938	14,766	\$18,457.50	\$388.91	\$18,068.59	0.70	\$12,648.01
							Entity Tota	al:	\$12,648.10
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$12,648.10
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	804	1,298	3	2,105	\$2,631.25	\$58.23	\$2,573.02	0.70	\$1,801.11
							Entity Tota	al:	\$1,801.11
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,801.11
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	1,400	4,392	69	5,861	\$7,326.25	\$147.73	\$7,178.52	0.70	\$5,024.96
							Entity Tota	al:	\$5,024.96

Adjustment:

\$0.00

							Total Acces		#5 004 00
Brookings							Total Amo	unt:	\$5,024.96
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.78	\$0.78	0.70	\$0.55
6/2024	12,351	24,316	1,588	38,255	\$47,818.75	\$1,025.71	\$46,793.04	0.70	\$32,755.13
							Entity Tota	al:	\$32,755.68
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$32,755.68
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.23	\$0.23	0.70	\$0.16
6/2024	4,699	29,534	3,131	37,364	\$46,705.00	\$1,025.50	\$45,679.50	0.70	\$31,975.65
							Entity Tota	al:	\$31,975.81
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$31,975.81
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.03	\$0.03	0.70	\$0.02
6/2024	2,006	4,079	80	6,165	\$7,706.25	\$155.95	\$7,550.30	0.70	\$5,285.21
							Entity Tota	al:	\$5,285.23
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,285.23
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	527	497	1	1,025	\$1,281.25	\$25.65	\$1,255.60	0.70	\$878.92
							Entity Tota	al:	\$878.92

Adjustment:

Total Amount:

\$0.00

\$878.92

			\\OID					=	
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.10	\$0.10	0.70	\$0.07
6/2024	1,581	7,345	308	9,234	\$11,542.50	\$247.82	\$11,294.68	0.70	\$7,906.28
							Entity Tota	al:	\$7,906.35
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$7,906.35
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	537	1,449	15	2,001	\$2,501.25	\$57.40	\$2,443.85	0.70	\$1,710.70
							Entity Tota	al:	\$1,710.70
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,710.70
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	2,073	5,887	17	7,977	\$9,971.25	\$201.94	\$9,769.31	0.70	\$6,838.52
							Entity Tota	al:	\$6,838.52
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$6,838.52
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	1	3,008	42	3,051	\$3,813.75	\$76.87	\$3,736.88	0.70	\$2,615.82
							Entity Tota	al:	\$2,615.82
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,615.82
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.50	\$0.50	0.70	\$0.35
6/2024	472	3,437	102	4,011	\$5,013.75	\$129.36	\$4,884.39	0.70	\$3,419.07

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,419.42
City of Pierre, Hugh	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.23	\$0.23	0.70	\$0.16
6/2024	210	11,937	1,880	14,027	\$17,533.75	\$358.38	\$17,175.37	0.70	\$12,022.76
							Entity Tot	al:	\$12,022.92
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$12,022.92
City of Sioux Falls, I	Lincoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-31.47	\$31.47	0.70	\$22.03
6/2024	1,159	34,437	5,512	41,108	\$51,385.00	\$1,061.32	\$50,323.68	0.70	\$35,226.58
							Entity Tot	al:	\$35,248.61
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$35,248.61
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	942	2,579	81	3,602	\$4,502.50	\$99.57	\$4,402.93	0.70	\$3,082.05
							Entity Tot	al:	\$3,082.05
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,082.05
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.08	\$0.08	0.70	\$0.06
6/2024	788	8,232	731	9,751	\$12,188.75	\$256.29	\$11,932.46	0.70	\$8,352.72
							Entity Tot	al:	\$8,352.78

Entity Total:

\$3,419.42

Adjustment:	\$0.00
Total Amount:	\$8,352.78

Total Amount:

\$17,103.55

Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.83	\$0.83	0.70	\$0.58
6/2024	2,946	21,354	3,079	27,379	\$34,223.75	\$737.00	\$33,486.75	0.70	\$23,440.73
							Entity Tota	al:	\$23,441.31
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$23,441.31
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	672	1,076	510	2,258	\$2,822.50	\$59.23	\$2,763.27	0.70	\$1,934.29
							Entity Tota	al:	\$1,934.29
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,934.29
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.10	\$0.10	0.70	\$0.07
6/2024	2,830	7,040	40	9,910	\$12,387.50	\$279.39	\$12,108.11	0.70	\$8,475.68
							Entity Tota	al:	\$8,475.75
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$8,475.75
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-2.13	\$2.13	0.70	\$1.49
6/2024	2,629	15,818	1,521	19,968	\$24,960.00	\$528.48	\$24,431.52	0.70	\$17,102.06
							Entity Tota	al:	\$17,103.55
							Adjustmer	nt:	\$0.00

Day

,									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.13	\$0.13	0.70	\$0.09
6/2024	1,414	3,899	213	5,526	\$6,907.50	\$142.39	\$6,765.11	0.70	\$4,735.58
							Entity Tota	al:	\$4,735.67
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,735.67
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	1,231	3,283	126	4,640	\$5,800.00	\$120.26	\$5,679.74	0.70	\$3,975.82
							Entity Tota	al:	\$3,975.82
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,975.82
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	966	2,304	9	3,279	\$4,098.75	\$85.23	\$4,013.52	0.70	\$2,809.46
							Entity Tota	al:	\$2,809.46
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,809.46
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	862	3,193	142	4,197	\$5,246.25	\$106.43	\$5,139.82	0.70	\$3,597.87
							Entity Tota	al:	\$3,597.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,597.87
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.40	\$0.40	0.70	\$0.28

6/2024	2,427	5,323	35	7,785	\$9,731.25	\$200.59	\$9,530.66	0.70	\$6,671.46
							Entity Tota	al:	\$6,671.74
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$6,671.74
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.03	\$0.03	0.70	\$0.02
6/2024	591	1,668	45	2,304	\$2,880.00	\$58.22	\$2,821.78	0.70	\$1,975.25
							Entity Tota	al:	\$1,975.27
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$1,975.27
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	1,137	5,881	537	7,555	\$9,443.75	\$224.11	\$9,219.64	0.70	\$6,453.75
							Entity Tota	al:	\$6,453.75
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$6,453.75
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	1,441	3,654	9	5,104	\$6,380.00	\$146.38	\$6,233.62	0.70	\$4,363.53
							Entity Tota	al:	\$4,363.53
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$4,363.53
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	847	1,396	3	2,246	\$2,807.50	\$57.03	\$2,750.47	0.70	\$1,925.33
							Entity Tota	al:	\$1,925.33
							Adjustmer	nt:	\$0.00

Hamlin

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.03	\$0.03	0.70	\$0.02
6/2024	1,149	4,393	133	5,675	\$7,093.75	\$145.60	\$6,948.15	0.70	\$4,863.71
							Entity Tot	al:	\$4,863.73
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,863.73
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.10	\$0.10	0.70	\$0.07
6/2024	540	2,796	373	3,709	\$4,636.25	\$101.04	\$4,535.21	0.70	\$3,174.65
							Entity Tot	al:	\$3,174.72
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,174.72
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	630	3,277	79	3,986	\$4,982.50	\$113.82	\$4,868.68	0.70	\$3,408.08
							Entity Tot	al:	\$3,408.08
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,408.08
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	569	879	1	1,449	\$1,811.25	\$46.49	\$1,764.76	0.70	\$1,235.33
							Entity Tot	al:	\$1,235.33
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,235.33
Hughes									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	1,247	3,358	164	4,769	\$5,961.25	\$157.77	\$5,803.48	0.70	\$4,062.44
							Entity Tota	ıl:	\$4,062.44
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,062.44
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.05	\$0.05	0.70	\$0.04
6/2024	2,182	5,601	43	7,826	\$9,782.50	\$198.36	\$9,584.14	0.70	\$6,708.90
							Entity Tota	ıl:	\$6,708.94
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$6,708.94
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	540	1,057	13	1,610	\$2,012.50	\$40.82	\$1,971.68	0.70	\$1,380.18
							Entity Tota	ıl:	\$1,380.18
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,380.18
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	530	969	8	1,507	\$1,883.75	\$38.06	\$1,845.69	0.70	\$1,291.98
							Entity Tota	ıl:	\$1,291.98
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,291.98
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	651	1,440	17	2,108	\$2,635.00	\$53.03	\$2,581.97	0.70	\$1,807.38
							Entity Tota	ıl:	\$1,807.38

Adjustment:	\$0.00
Total Amount:	\$1,807.38

Adjustment:

\$0.00

Jones

Company Comp										301163
Admin Fee Adm	Entity Amount	-	Net Surcharge	Admin Fee	Surcharge	Total Lines		Wireless Lines	Telecom Lines	Reporting Period
	\$0.02	0.70	\$0.03	\$-0.03	\$0.00	0	0	0	0	5/2024
	\$992.45	0.70	\$1,417.78	\$29.72	\$1,447.50	1,158	5	745	408	6/2024
Period Telecom Lines Wireless Lines VOIP Total Lines Surcharge Admin Fee Net Surcharge Entity Amount Percent	\$992.47	al:	Entity Total							
	\$0.00	nt:	Adjustmen							
Period Telecom Lines Wireless Lines VOIP Lines Surcharge Admin Fee Net Surcharge Entity Percent	\$992.47	unt:	Total Amou							
Composition										Kingsbury
Telecom Lines Telecom Lines Wireless Lines Telecom Li	Entity Amount	-	Net Surcharge	Admin Fee	Surcharge	Total Lines		Wireless Lines	Telecom Lines	Reporting Period
Period Telecom Lines Wireless Lines VOIP Total Lines S16,230.00 S0.00	\$0.44	0.70	\$0.63	\$-0.63	\$0.00	0	0	0	0	5/2024
Period	\$4,375.92	0.70	\$6,251.31	\$146.19	\$6,397.50	5,118	287	4,086	745	6/2024
Total Amount Standard Stan	\$4,376.36	al:	Entity Total							
Telecom Lines Wireless Lines VOIP Total Lines Surcharge Admin Fee Net Surcharge Entity Percent	\$0.00	nt:	Adjustmen							
Company Comp	\$4,376.36	unt:	Total Amou							
Company Comp										Lake
1,535 9,759 1,690 12,984 \$16,230.00 \$358.23 \$15,871.77 0.70 \$11,110.24	Entity Amount	=	Net Surcharge	Admin Fee	Surcharge	Total Lines		Wireless Lines	Telecom Lines	Reporting Period
Entity Total: \$11,110.80 Adjustment: \$0.00 Total Amount: \$11,110.80	\$0.56	0.70	\$0.80	\$-0.80	\$0.00	0	0	0	0	5/2024
Adjustment: \$0.00 Total Amount: \$11,110.80 Total Complex Mireless Lines VOIP Total Lines Surcharge Admin Fee Net Surcharge Percent 0 0 0 0 \$0.00 \$0.	\$11,110.24	0.70	\$15,871.77	\$358.23	\$16,230.00	12,984	1,690	9,759	1,535	6/2024
Total Amount: \$11,110.80 Ing Period Telecom Lines Wireless Lines VOIP Lines 0 0 0 0 \$0 \$0.00 \$0.00 \$-0.90 \$0.90 \$0.90 \$0.90 \$0.70 \$0.63	\$11,110.80	al:	Entity Tota							
ng Period Telecom Lines Wireless Lines VOIP Total Lines Surcharge Admin Fee Net Surcharge Entity Amount Lines 0 0 0 0 \$0.00 \$-0.90 \$0.90 \$0.90 \$0.90 \$0.63	\$0.00	ıt:	Adjustmen							
ng Period Telecom Lines Wireless Lines VOIP Total Lines Surcharge Admin Fee Net Surcharge Entity Entity Amount Percent 0 0 0 0 \$ 0 \$ \$0.00 \$-0.90 \$0.90 \$0.90 \$0.90 \$0.63	\$11,110.80	unt:	Total Amou							
Lines Percent 0 0 0 \$0.00 \$-0.90 \$0.90 0.70 \$0.63										Lawrence
	Entity Amount	-	Net Surcharge	Admin Fee	Surcharge	Total Lines		Wireless Lines	Telecom Lines	Reporting Period
4,445 20,028 1,702 26,175 \$32,718.75 \$703.39 \$32,015.36 0.70 \$22,410.75	\$0.63	0.70	\$0.90	\$-0.90	\$0.00	0	0	0	0	5/2024
	\$22,410.75	0.70	\$32,015.36	\$703.39	\$32,718.75	26,175	1,702	20,028	4,445	6/2024
Entity Total: \$22,411.38	\$22,411,38	al:	Entity Tota							
Entity Total:	9	al:	Entity Tota							

Total Amount:	\$22,411,38
i Otal Alliount.	J22,411.J0

_	-				_	
	-	-	_	_		
		n	c	m	ш	r

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-1.75	\$1.75	0.70	\$1.23
6/2024	1,834	28,330	2,944	33,108	\$41,385.00	\$959.37	\$40,425.63	0.70	\$28,297.94
							Entity Tot	al:	\$28,299.17
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$28,299.17
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	980	1,925	357	3,262	\$4,077.50	\$86.76	\$3,990.74	0.70	\$2,793.52
							Entity Tot	al:	\$2,793.52
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,793.52
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.03	\$0.03	0.70	\$0.02
6/2024	1,198	3,310	156	4,664	\$5,830.00	\$131.97	\$5,698.03	0.70	\$3,988.62
							Entity Tot	al:	\$3,988.64
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,988.64
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	1,492	4,648	6	6,146	\$7,682.50	\$157.69	\$7,524.81	0.70	\$5,267.37
							Entity Tot	al:	\$5,267.37
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,267.37
McPherson									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	753	1,583	5	2,341	\$2,926.25	\$72.39	\$2,853.86	0.70	\$1,997.70
							Entity Tota	al:	\$1,997.70
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,997.70
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.25	\$0.25	0.70	\$0.18
6/2024	1,720	21,241	969	23,930	\$29,912.50	\$653.03	\$29,259.47	0.70	\$20,481.63
							Entity Tota	al:	\$20,481.81
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$20,481.81
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	488	1,608	28	2,124	\$2,655.00	\$53.48	\$2,601.52	0.70	\$1,821.06
							Entity Tota	al:	\$1,821.06
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,821.06
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	795	1,763	21	2,579	\$3,223.75	\$66.76	\$3,156.99	0.70	\$2,209.89
							Entity Tota	al:	\$2,209.89
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,209.89
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-1.13	\$1.13	0.70	\$0.79
6/2024	16,689	165,222	18,125	200,036	\$250,045.00	\$5,519.97	\$244,525.03	0.70	\$171,167.52

							Entity Tota	l:	\$171,168.31
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$171,168.31
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	856	5,193	127	6,176	\$7,720.00	\$169.74	\$7,550.26	0.70	\$5,285.18
							Entity Tota	l:	\$5,285.18
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,285.18
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-6.13	\$6.13	0.70	\$4.29
6/2024	12,428	92,567	9,852	114,847	\$143,558.75	\$3,140.62	\$140,418.13	0.70	\$98,292.69
							Entity Tota	l:	\$98,296.98
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$98,296.98
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	1,443	2,359	5	3,807	\$4,758.75	\$106.54	\$4,652.21	0.70	\$3,256.55
							Entity Tota	l:	\$3,256.55
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,256.55
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	869	1,958	7	2,834	\$3,542.50	\$71.30	\$3,471.20	0.70	\$2,429.84
							Entity Tota	l:	\$2,429.84
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,429.84

Roberts

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.10	\$0.10	0.70	\$0.07
6/2024	2,687	5,683	28	8,398	\$10,497.50	\$236.40	\$10,261.10	0.70	\$7,182.77
							Entity Tota	ıl:	\$7,182.84
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,182.84
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	608	1,912	13	2,533	\$3,166.25	\$65.46	\$3,100.79	0.70	\$2,170.55
							Entity Tota	ıl:	\$2,170.55
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,170.55
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	1,140	4,922	463	6,525	\$8,156.25	\$168.60	\$7,987.65	0.70	\$5,591.36
							Entity Tota	ıl:	\$5,591.36
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,591.36
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	245	2,452	369	3,066	\$3,832.50	\$82.04	\$3,750.46	0.70	\$2,625.32
							Entity Tota	ıl:	\$2,625.32
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,625.32
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	512	1,284	4	1,800	\$2,250.00	\$46.26	\$2,203.74	0.70	\$1,542.62

							Adjustmer	\$0.00	
							Total Amo	unt:	\$1,542.62
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	0	58	0	58	\$72.50	\$1.87	\$70.63	0.70	\$49.44
							Entity Tota	al:	\$49.44
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$49.44
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	1,869	4,153	9	6,031	\$7,538.75	\$154.10	\$7,384.65	0.70	\$5,169.26
							Entity Tota	al:	\$5,169.26
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,169.26
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	1,464	6,953	80	8,497	\$10,621.25	\$216.15	\$10,405.10	0.70	\$7,283.57
							Entity Tota	al:	\$7,283.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,283.57
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
									00.04
5/2024	0	0	0	0	\$0.00	\$-1.30	\$1.30	0.70	\$0.91
5/2024 6/2024	0 1,839	0 12,076	0 793	0 14,708	\$0.00 \$18,385.00	\$-1.30 \$469.03	\$1.30 \$17,915.97	0.70 0.70	
								0.70	\$12,541.18
							\$17,915.97	0.70 al :	\$0.91 \$12,541.18 \$12,542.09 \$0.00

Entity Total:

\$1,542.62

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-1.25	\$1.25	0.70	\$0.88
6/2024	1,241	3,909	514	5,664	\$7,080.00	\$143.83	\$6,936.17	0.70	\$4,855.32
							Entity Total	l:	\$4,856.20
							Adjustment	::	\$0.00
							Total Amou	ınt:	\$4,856.20
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	0	0	0	\$0.00	\$-0.60	\$0.60	0.70	\$0.42
6/2024	2,299	19,066	2,637	24,002	\$30,002.50	\$635.12	\$29,367.38	0.70	\$20,557.17
							Entity Total	l:	\$20,557.59
							Adjustment	::	\$0.00
							Total Amou	ınt:	\$20,557.59
TOTALS	122,572	684,681	63,817	871,070	\$1,088,837.50	\$23,643.17	\$1,065,194.33		